*page 13: chart: under ‘ga’ nagari ‘ ¥’ should be T °
*page 117: #9, 5th column: open parenthesis on na) missing, should read: (na)

*page 117: #10, 7th column: delete ‘a’should read: he, she, or it steals

*page 134: lines 10 and 12 of reading: danda-s (1) at beginning of lines moved to end of
preceding line.

*page 169: sentence 1: the word HIAT should read I
*page 170: second line of reading: the word LiCE should read T

*page 251: tenth line of reading: M= should read BT

*page 288: second to last line of reading: Qh"h?l(’e‘lSH"H 'Elﬁi should read 3l\l°h§’|v¢|8('ll-|-|l 'Elﬁz
*page 308: twelth line of reading add 9T after GeAT , should read: sigl

Al Tlred T3 TS SIGERT A1 ATk I |
*page 341: right hand column, second entry: §HITH: should read HHITH:

*page 342: left hand column, fourth entry: ?ﬁ_s: should read ?ﬁ_s:
(6P)—play (1P)—play
*page 344: second to last line &H: should read DEE

*page 385: line fifteen: ¥H: should read o

* page 391: omitted from bottom of page:

Examples:
i. they can be used adjectivally
el s= el | (The swift horse runs.)
U8 9= 96 | (He speaks clear speech.)

*page 392: line two: ‘hose’ should read ‘horse’



*page 392: line twelve: ‘concentartate’ should read ‘concentrate’

*page 396: lines 3—4. IMIM 4 should read JT9IT- ATH

*page 397: left hand column, second entry from the bottom: 3 + e should read 3 + Vb
*page 397: right hand column, eighth entry: = should read ESCE

*page 408: heading of b.i. TSI should read TEdET

*page 411: line 10, second line of verse 2: ¥: should read i

*page 422: final word of colophon, & final word should read Tl

*page 450: right hand column, sixth entry: = should read IC3CE

*page 492: left hand column, first entry: ‘meeting (18)’ should read ‘meeting (14,18)’

*page 510: right hand column: under ‘fool” §4: should read '{@1



